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ĐỀ SỐ 6 

Phần  Câu  Nội dung Điểm 

I  Complete these sentences with the words from the box 2 

 1 running gear 0.2 

2 coveralls 0.2 

3 combustion 0.2 

4 indicator 0.2 

5 cup holder 0.2 

6 air vent 0.2 

7 respirator    0.2 

8 bumpers 0.2 

9 explosion 0.2 

10 cut 0.2 

II  Put the words in brackets in the correct forms 2 

 1 visits 0.2 

 1 is repairing 0.2 

 2 are cooled more luxurious 0.2 

 2 is heated faster 0.2 

 3 cannot be tightened 0.2 

 3 can be tightened 0.2 



 4 the most economical 0.2 

 4 (the) biggest 0.2 

 5 is cooled 0.2 

 5 is heated 0.2 

III  Read the following passage and answer the questions. 1.5 

 1 three                                  0.3 

 2 replace it 0.3 

 3 Yes, I can 0.3 

 4 Push the car forwards and backwards. 0.3 

 5 Finding a fault in a car 0.3 

IV  Rewrite sentences using suggestion in the brackets. 2.0 

 1 The orders can be placed by fax or machine 0.4 

 2 Diesel engines are more expensive than petrol engines. 0.4 

 3 We wear goggles or safety glasses in order to keep our eyes 

healthy. 

0.4 

 4 A new bulb isn’t inserted in the socket. 0.4 

 5 The engine is a relatively heavy component, therefore the 

location of the engine influences weight distribution 

0.4 

V  Write complete sentences using these given words. 2.0 

 1 He often replaces the plugs but at the moment he is inserting 

them 

0.2 

 2 The electricity is switched off  by workers in the evening. 0.2 

 3 Paper is more combustible than rubber. 0.2 



 4 Rubber is flexible, therefore it is used to make welders 

glovers.  

0.2 

 5 Safe work habits are developed by workers. 0.2 

 6 We often practise lifting but today we are working in the 

machine shop. 

0.2 

 7 4 stroke engines are larger than 2 stroke engines 0.2 

 8 We apply the brakes because there are many vehicles on the 

road. 

0.2 

 9 We must press the clutch pedal when you want to change 

gear 

0.2 

 10 You mustn’t use brick to raise the car. 0.2 

Tổng điểm (I+II+III+IV+V) 10 
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